[ number of missing inner layers | [ number of missing outer layers |

1 Entries 8791 1, Entries 8791
E . . : : + [ Mean 0.1479 ¢ [ Mean 1.807
F Std Dev 0.3758 | Std Dev 2.364
o T ~ : : I
107 “[Enties 8786 10 gy e *TEnties 8786
F Mean 0.1468 F Mean 1.82
C | Std Dev 0.3718 C
-2 N | -2
10 3 Entries 8786 10 3
F Mean 0.1468 F
3 r Std Dev 0.3718 3 B
10°F 10°F
107 107
F Entries F Entries
C Mean 0.1468 C . . . Mean 1.82
105k .| std Dev 0.3718 1075k eeeeeee A [ + .| std pev 2.366
010—6:. ! ....!....!.... 01059_""| PR PR R
0.9 E b k -F NE =l B U B
0.8F . T
3 - 1
0.7 0.95
0 0 5 10 15 20 25
—_ B Il\V/i::T': EH:%%:II\féwnegau cPL
— DOM™mKEIt"TT"NEWdefaul|t_specPLess2
mean hif| === DOM_mKFE|t_TT_NEW: e;aut specPLess3
e DOM™MKFIt"TT_NEWdefau cPL
= 20 - - - - - 103 £ Entries 8791
" : : : : .
> 18
&
=2
= 16
\ o
14 102
12
10
10
2 1
o +WRF o .o
3 g f
0: 0: - L -4
1 L= T4 1
r |
0.95 : ] 0.95L5 : : :
= 2 3 M 5 10 15 20 25 30 35 40
track n track hits
[Nofreco track vs pT |
Entries 143225 - T T Entries 11050
Mean 2.115 B : : Mean 1.629
Std Dev. 5.971 101 i : Std Dev 4.088
: I | S R - o 1
5 Entries 143225 E . Entries 11046
ol ] Mean 2.115 N Mean 1.632
107E Std Dev 5.971 1072 Std Dev 4.091
E ; T : 1
B Entries 143225 Entries 11047
3] an 2.115 Mean 1.632
10 E St Dev 5.971 1072 Std Dev 4.091
E =] I B
r Entri 143225 tries 11045
_4 Mee 2.115 Mpan 1.632
107°F S 5.971 107 st Dev 4,091
= : I | I
B Entries 143225 Entries 11047
[ Mean 2.115 Mean 1.632
107°F Std Dev 5.971 10*5E_ . Std Dev 4.091
—6, NPT NI —6, |
o 1093F 5 0 10udF 5
@ ‘“111111111111111|||||| & [ Al
1 -
;_”TTTTTTTTTTTT””|||||H [ :
095 i ’ v . 005 i .
10 1 10 10 10 10 10 10

2
TP p. track p_



	Contents
	Page 1


